Divisione ( 2 cifre )

Nome: Data: Punteggio: __
36 3= 78+ 6= 50+=5= 48 + 8 = 76 4=
75+3= 5+5= 15+5= 56 7= 28+4=
12+3= 90 +9 = 98 +7= 76 +2= 81+3=
68 +4 = 16 +4= 92+2= 63+7= 93 +3=
9l +7= 1I8+9= 36 +4= 76 +2 = 88+2=
2+2= 27+9= 12+3= 98+2= 27+9=
80+5= 14+2= 96+ 6= T4+2= 75+5=
50+2= Ol+7= 26 2= 56 -4 = 72+6=
81 +9= 98 +2= 94 +2= 2+2= 32+4=
39+3= 48 +2 = 1I8+3= 36+2= 18 +2=
80 +2= 48 +6= 88+ 8= 66 +2= 60+6=
45+9= 30+3= 64+2= 4+4= 12+3=
87+3= 81 +9= 84 +4= 32+4= 84 +3 =
70+5= 32+8= 78 +2= 27+3= 69+3=
48 +4 = 80+4= 12+3= 36 +3= 21 +3=
65+5=
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